
math4u.vsb.cz

PARAMETRIC AND GENERAL EQUATIONS OF LINES
IN PLANE

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Don’t listen to the person who has the answers; listen to the person who has the questions.
Albert Einstein, genial physicist and (among others) excellent mathematician

Match parametric equations of a line with the corresponding general form equation of the same line.
Parametric equations:

1 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3t,
y = 4− 3t; t ∈ R
x = 3t,
y = 4 + 3t; t ∈ R

2 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3t,
y = 4− 3t; t ∈ R
x = 3t,
y = 4 + 3t; t ∈ R

3 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3t,
y = 4− 3t; t ∈ R
x = 3t,
y = 4 + 3t; t ∈ R

4 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3t,
y = 4− 3t; t ∈ R
x = 3t,
y = 4 + 3t; t ∈ R

5 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3t,
y = 4− 3t; t ∈ R
x = 3t,
y = 4 + 3t; t ∈ R

6 x = − 4t,
y = 3 + 3t; t ∈ R
x = 6− 3t,
y = 4− 4t; t ∈ R
x = − 3t,
y = 4 + 4t; t ∈ R
x = −4 + 4t,
y = 3t; t ∈ R
x = 3t,
y = 4− 3t; t ∈ R
x = 3t,
y = 4 + 3t; t ∈ R

General form equations:

A 3x + 4y − 12 = 04x − 3y − 12 = 04x + 3y − 12 = 03x − 4y + 12 = 03x + 3y − 12 = 03x − 3y + 12 = 0

B 3x + 4y − 12 = 04x − 3y − 12 = 04x + 3y − 12 = 03x − 4y + 12 = 03x + 3y − 12 = 03x − 3y + 12 = 0

C 3x + 4y − 12 = 04x − 3y − 12 = 04x + 3y − 12 = 03x − 4y + 12 = 03x + 3y − 12 = 03x − 3y + 12 = 0

D 3x + 4y − 12 = 04x − 3y − 12 = 04x + 3y − 12 = 03x − 4y + 12 = 03x + 3y − 12 = 03x − 3y + 12 = 0

E 3x + 4y − 12 = 04x − 3y − 12 = 04x + 3y − 12 = 03x − 4y + 12 = 03x + 3y − 12 = 03x − 3y + 12 = 0

F 3x + 4y − 12 = 04x − 3y − 12 = 04x + 3y − 12 = 03x − 4y + 12 = 03x + 3y − 12 = 03x − 3y + 12 = 0



Perfect, keep it up!You are the champion!Great, now you can try solving one of
the Millennium Prize problems!

Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

You can go celebrate!You’re almost rocking.A small step remains,
next time will be glorious!

Great. Next time you won’t make any
mistakes

Good job, but you are no Einstein yet!Good work, have a biscuit.It’s not bad, but you can do better!It is not so bad, but you still have
a lot to catch up on.

Try again, practice makes perfect!All great scientists made some mistakes
in their life. Just like you.

It is not bad, but it could be better.Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Pity, you might need to practice more.You made it,
but there’s still room for improvement.

You made a lot of mistakes.
You aren’t good at this yet.

That didn’t end up very well.
You should study more.

The awkward moment, when the only
thing on your exam you know is your

name.

Have you ever seen the way a chicken
flies?

You solve math problems that way. . .

Let’s pretend it never happened.There was a time
Einstein couldn’t count to 10 either.

We should blame the weather!




